

المسألة 20، حلها

المسألة 20: أوجد الحل العام للمعادلة
المسألة 20

(1) $y' + 2xy = 4x$

المسألة 5: $y' + 2xy = 0 \Rightarrow \frac{dy}{dx} = -2xy \Rightarrow \frac{dy}{y} = -2x dx$

المسألة 5: $\ln|y| = -2\left(\frac{x^2}{2}\right) + \ln(C) \Rightarrow \ln|y| - \ln|C| = -x^2$

$\ln\left(\frac{y}{C}\right) = -x^2 \Rightarrow \frac{y}{C} = e^{-x^2} \Rightarrow y = C \cdot e^{-x^2}$ (2)

$y' = C \cdot e^{-x^2} - 2x \cdot e^{-x^2} \cdot C$ (3)

المسألة 5: نتحقق من (1) (2) و (3)

$C \cdot e^{-x^2} - 2x \cdot e^{-x^2} \cdot C + 2x \cdot C \cdot e^{-x^2} = 4x$

$C \cdot e^{-x^2} = 4x \Rightarrow C(x) = 4x \cdot e^{x^2} \Rightarrow$

المسألة 5: $x = t \Rightarrow 2x dx = dt$

$C(x) = 2e^{x^2} + C_1$

$y = (2e^{x^2} + C_1) \cdot e^{-x^2}$

(2) $(3y e^{3x} - 2x) dx + e^{3x} dy = 0$

المسألة 20

المسألة 5

$\frac{\partial M}{\partial y} = 3e^{3x}, \frac{\partial N}{\partial x} = 3e^{3x}$ شرط محقق

$P(x, y) = \int M(x, y) dx + q(y) = \int (3y e^{3x} - 2x) dx + q(y)$

$= \frac{3y}{3} e^{3x} - x \frac{x^2}{2} + q(y)$ المسألة 5

$F = y e^{3x} - \frac{x^2}{2} + q(y)$ المسألة 5

$\frac{\partial F}{\partial y} = e^{3x} + q'(y) = N(x, y) = e^{3x} + q'(y) = e^{3x}$

$q'(y) = 0 \Rightarrow q(y) = C$ (المسألة 5)

$F = y e^{3x} - \frac{x^2}{2} + C$

مسألة 20

المسألة الأولى : اوجد الحل العام

$$y' = \frac{x+y}{x-y}$$

نضع $u = \frac{y}{x}$ (أي $y = ux$)

مسألة 5

$$= \frac{1 + \frac{y}{x}}{1 - \frac{y}{x}}$$

$$2 = \frac{y}{x} \quad \text{نضع}$$

$$y = 2x + 2$$

$$\frac{dy}{dx} = \frac{1+2}{1-2}$$

$$\Rightarrow 2x + 2 = \frac{1+2}{1-2}$$

$$2x = \frac{1+2}{1-2} - 2 \Rightarrow 2x = \frac{1+2}{1-2} \Rightarrow \frac{1-2}{1+2^2} dz = \frac{dx}{x}$$

مسألة 5

$$\ln(x) = \left(\frac{1}{1+2^2} - \frac{2z}{2(1+2^2)} \right) dz \Rightarrow \ln(x) = \ln(1+2^2) + C$$

مسألة 5

مسألة 20

المسألة الأولى : اوجد الحل العام

$$e^{x+y} dy = e^{-2x} dx$$

$$e^y \cdot e^y dy = e^{-2x} dx \Rightarrow e^y dy = e^{-3x} dx$$

$$y = -\frac{1}{3} e^{-3x} + C \Rightarrow y = \ln\left(-\frac{1}{3} e^{-3x} + C\right)$$

المسألة الأولى : اوجد الحل العام

$$(x^2+1)(y^2-1)dx = -2xydy$$

$$x(y^2-1) \neq 0$$

$$\left(\frac{x^2+1}{x}\right) dx = \frac{-2y}{y^2-1} dy \Rightarrow$$

$$\left(x + \frac{1}{x}\right) dx = \frac{-2y}{y^2-1} dy \Rightarrow \frac{x^2}{2} + \ln|x| = -\ln|y^2-1| + C$$

$$e^x + x = y^2 - 1 + C$$

$$y = \sqrt{e^{\frac{x^2}{2} + x + 1 + C} + 1}$$